Year 1 -
osition of numbers within 100

In Year 1, the end of year expectation, is that
children know the value of tens and ones in a
two-digit number within 100.

This means that by the end of the year, all
children should be able to confidently count
within 100, understanding what the numbers
are made up of and how to represent them.
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This draws upon key foundational

concepts explored in Reception, where
children have understood that numbers ¢
10-19 are made up of one ten and extra
ones and 20 is made up of two tens and
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v \ Children begin by simple counting practise and begin to make some clear links.

They start to

understand that the digits in the number tell us about their value.
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. ' \They theh learn that objects can be counted efficiently by making groups of ten.
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po. ‘
1 Children use the part-part-whole model to represent the partitioning of two-digit numbers into
tens and ones (parts), and the aggregation of tens and ones (parts) to make ‘whole’ two-digit

/., numbers.
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\J" . The part-part-whole and bar models are then linked to the corresponding equations, so that the
A children can then complete addition and subtraction calculations, using their knowledge of
, composition of number.
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20 + 8 = 28 28 -20 =28
8 + 20 = 28 28 -8 =20
28 =20+ 8

28 =8 + 20
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At Barrow Hedges, in maths, we work from
concrete > pictorial > abstract representations.
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Starting with visual representations and manipulatives to represent two-digit numbers.
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At Barrow Hedges, in maths, we work from
concrete > pictorial > abstract representations.
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Using jottings to represent two-digit numbers.
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At Barrow Hedges, in maths, we work from
concrete > pictorial > abstract representations.
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ou/ﬁturn... Can you use jottings to demonstrate how to represent the numbers below?
\
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| know that fifty-two is

greater than twenty-eight

because fifty-two has five

tens sticks, and twenty-eight Children are then given

only has two tens sticks. plenty of Opportunity to
use their knowledge of '
place value to reason and [
solve problems. A
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Any questions?




